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QUESTION 1

When you troubleshoot a local area network with Huawei equipment deployed, you find that there are a large number of
unicast frames with unknown source AC addresses in the local area network . A large number of unknown source MAC
addresses single-plug frames can cause the switch the biggest danger is ?

A. Memory that occupies the cache ton

B. Increases the power consumption of the power supply

C. Consumes a TCAM table entry

D. Consume the available bandwidth

E. Consume the MAC address table entry available in the system

Correct Answer: E

QUESTION 2
When deploying BGP/MPLS IPVPN, OSPF\\'s VPN route tag is not present.

The extended properties of MP-BGP are passed only locally, only locally, and only meaningful on routers that receive
MP-BGP routes and generate OSPF LSAs.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

Two routers connected through a firewall cannot establish a BGP neighbor relationship. What causes it?
A. EBGP Multi-hop is not configured

B. The firewall did not release IP protocol number 89

C. Firewalls that do not have an open UDP port number of 179

D. BGP neighbors must form a Layer 2 adjacency

Correct Answer: C

QUESTION 4

About multi-instance CE (Multi-VPN-Instance CE, MCE). What is the error described below?
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A. Users who connect to the same MCE but are not part of a VPN instance cannot access each other

B. The MCE vs. PE direction must have multiple physical links to achieve isolation between different VPN instances

C. MCE-enabled devices can access multiple VPI instances in BGP/RPLS IPVPN applications, reducing user network

equipment investment

D. On the MCE device, you need to create their own routing tables for different VPNs and bind to the corresponding

interface

Correct Answer: B

QUESTION 5

Two routers, connected together through the serial port, but can not ping between each other , now check the port

status as follows: Can the following information determine what the cause is?
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A. Insufficient link bandwidth

B. The IP addresses on both ends are not on the same network segment
C. The link layer protocols on both ends are inconsistent

D. Subnet mask does not match the

Correct Answer: C
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